TH/EE F1E (6A) HER KBERRR

SEFE | BEEH fEx
wOE L = 3 9 3.0
T R E £ 169 1,711 10. 1
& & 172 1,720 10.0

TR B - FECHFRIT
a—FR FE4 BEFE | BEEY &=
C1 | 7060 RES 3 9 3.0
N E 3 9 3.0

ZR —RiEwERET

a—R F=E4 EEFE | BEEK fExR
A | 1021 A& (2DK) 1 63 63.0
A | 1510 RETTH XA 1 31 31.0
A | 1800 HE 1 8 8.0
A | 2101 TEE 1 1 11.0
A | 2300 S JER T 14 84 6.0
A | 2700 REINHESE 1 1 5 5.0
A | 2710 FEINAERLER 55 2 1 7 7.0
A | 3210 AR AWK 1 45 45. 0
A | 4200 &R 2 12 6.0
A | 4921 AX (2DK) 1 8 8.0
N g 24 274 11. 4




ZxR —itFEET (3 ARLE)

a—R EEH BRFY | BEEH | HX

B 1330 BRIR R 1 33 33.0
B 2600 At hn I By 1 0 0.0
B 2740 FAINAESE 3 1 1 1.0
B 2750 ma ANt 1 2 2.0
B 2800 NER 2 0 0.0
B 2820 INEE 3 2 0 0.0
B 2830 INEE 3 0 0.0
B 4100 A 1 7 7.0
B 4751 BramTig 1 0 0.0
B 4820 AXRFHR 3 0 0.0
B 4880 AERBH 1 1 1.0
B 4890 AKEE 3 1 0.3
B 4911 X 1 6 6.0
B 5522 RE 1 3 3.0
B 6100 BZH 1 7 7.0
B 6221 PHELE 1 7 1.0
B 6400 PE &R 1 0 0.0
B 6710 ki)t 1 6 6.0
N F 26 74 2.8




TR EFF - FECHERT

J— K T4 BRFY | WEEH | B=X

C 1411 X8 (2DK) 1 21 21.0
C 2031 Z#E (2DK) 1 17 17.0
C 2300 A] R BT 1 13 13.0
C 4020 THEAR 1 1 1.0
C 4430 & 2 9 4.5
C 4600 F4FHTH 1 0 0.0
C 4631 F 43T 1 9 9.0
C 4820 AXRFH 2 0 0.0
C 4871 AXEB 1 2 2.0
C 4890 AR 1 1 1.0
C 4911 IR 1 3 3.0
C 4921 AR (2DK) 1 0 0.0
C 5010 K& 1 1 1.0
C 6100 BZH 1 4 4.0
C 6221 PHELE 4 3 0.8
C 6231 FEHS (2DK) 1 0 0.0
C 6611 =% 1 0 0.0
&t 22 84 3.8
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J—FR T4 BRFY | WEEH | B=X

D 1610 IR BT KA 1 20 20.0
D 2101 TEfE] 1 7 1.0
D 2300 A] R BT 4 27 6. 8
D 2740 FAINAESE 3 1 7 1.0
D 2820 INEE 3 1 11 11.0
D 3100 E/NEH 1 34 34.0
D 4021 | THEAR (2DK) 1 9 9.0
D 4300 E1EE 2 3 1.5
D 4310 FAERESE 2 1 12 12.0
D 5030 - 2u - i) 1 7 1.0
D 6101 B2 2 5 2.5
D 6221 PEHESSE 2 38 19.0
D 6521 4£H (2DK) 1 16 16.0
N &t 19 196 10.3
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a—F T4 BRFY | WEEH | BX
E 1412 X& (1 DK) 2 238 119.0
E 1600 TRk C 1 27 27.0
E 4432 *& (1DK) 1 16 76.0
E 4801 AX (3DK) 2 3 1.5
E 4922 AKX (1 DK) 1 11 11.0
E 4840 |AXA®HFE2 (3DK) 2 5 2.5
E 4852 BRE#M (3 DK) 3 2 0.7
E 5301 & (3DK) 1 6 6.0
E 5500 R TP 6 7 1.2
E 5510 mEsE2 1 4 4.0
E 5600 RS 1 1 1 1.0
E 5602 | H/SE1 (3DK) 2 2 1.0
E 5632 | ABEE2 (1 DK) 1 30 30.0
E 5700 eI 4 2 0.5
E 5800 =ig (EVZ&L) 1 4 4.0
E 5801 (=105 1 11 11.0
E 7052 BA (1 DK) 2 40 20.0

7N &t 32 469 14.7
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a—R EEH BRFY | BEEH | HX
F 4850 AT 1 4 4.0
F 5500 B TR K 2 2 1.0
F 5510 B¥E2 1 3 3.0
F 5600 ARE1 1 0 0.0
F 5610 ARE2 1 4 4.0
N F 6 13 2.2
ZR (BREMEET) (4 ABL)
a—R FEH BHEFH | BEER S
G 2800 NER 3 8 2.7
NF 3 8 2.7
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DIIN—NID VYT (BEERAIT)

J—FK FE4 SEFE | hEEH | f£X
S 1 1230 |54 7RT—CF#E (8 1 29 29.0
S 1 1900 A HEHT 1 83 83.0
S 1 2420 =k 1 64 64. 0
S 1 3500 T F AR 2 65 32.5
S 1 4040 |BAvILRLRIERE () 2 25 12.5
S 1 4600 T 4-HITH 1 49 49. 0
S 1 4820 AKXFA 4 21 5.3
S 1 311 |FRATERARI (&) 1 13 13.0
S 1 6340 BRRE 1 60 60. 0
S 1 7040 (v I7LEETE (B 2 48 24. 0

N H3 16 457 28. 6
R VINR=NITVT (HEFERIT)

J—FK TFE4 BEFE | BEEH | BX
S2 1210 |54 *R¥EZA (8) 1 7 7.0
S2 2420 BTiE 1 13 13.0
S2 | 3600 O (fF) 1 7 7.0
S2 4600 F4HTH 1 15 15.0
S2 4820 AKRTFA 1 0 0.0
S2 4911 FIIE 1 3 3.0
S2 7030 (YT XFRYE () 1 2 2.0

N &t 7 47 6.7
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2R FHZER (BHERIT)

J— K FE4 BEFE | SEEHK | f&X
H1 | 2032 B (1 DK) 1 27 27.0
H1 | 2422 | #™3% (1DK) 1 14 14.0
H1 | 4840 |A%kKka%HE2 (3DK) 1 1 1.0
H1 | 5500 R K 4 1 0.3
H1 | 5632 | HK%2 (1DK) 3 19 6.3

N g 10 62 6.2
ZR FHZER (H5ET)

J—FR FE4 BEFY | BEEH EES
H2 | 2211 /INE (2DK) 1 15 15.0
H2 | 2300 SR BT 1 5 5.0

N 2 20 10.0
ZR RHIER (HFEIT) (3ALL)

aJ—k TE4 BEFE | BEEH | fBX
H3 | 2420 HTE 1 6 6.0
H3 | 4750 84 SR IR 1 1 1.0

N 2 7 3.5




